X ORI0] 3=
X A2 &

H = HHR2 M0 SEUI 0| K
2 H=sURATH EILREE 20 SS2 Y0 HES 28
I 2 HUR2, SSEC, A, LISHT

Al ZH 60~90(8)

THZH 12,000

H = Z2t 222 =2 84102

LH EOZ 2 H

TH=Hl 11,000

H = XS 2XH013 S10eH YXt HOlE %

2 DEHE HFHEES JRIZE 220 = LS2T}OH 201 S0
0I01X| 2+

=2 UHRUTHE RS, =325, 10 £0F ok, ZHHI0IZ
(HE: J1)

A2 60~90(8)

IH=Hl 11,000

H = Z04XZ 10l= I8 £ HYH HOl= %

2 B 2 J2IMo| HEMOI HHS (155t 220 HXIS 2
UHXOZ HGH|

I 5 DEEURE, RS, AFE, SOIHI0IE (Ek: Iy, H)

Al ZH 60~90(8)

IHZHl 11,000

Ho = DA TISAE 220 HOIE %

2 JFETHANM 22 AES =0 18 LIRS0 22012 HED]

=2 E20IE, LER201 AHE (B, I

Al ZF 60~90(8)

THZHl 11,000

diup.cokr 3



